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Fik|  PBahl ZFT | | B e R 5
1 ANfHFRR | 9% % | 4 |104***7| 2Z200 10,000
2 AftBe | PNz | 2 [105%**3| ZJ0O 10,000
3 ANfFR | BES% % | 3 |105***5( 35ROO 10,000
4 AfLBE | FEINZ 1 [107***5| 5T0OO 6,000
5 ANfHFRR | B9 % | 2 |106***4| #ROO 6,000
6 | AftPr | &#% | 2 |106***9| 5200 6,000
7 AftBe | FB% | 4 [104**8| #HOO 6,000
8 ANftfR | 8% | 4 |104***8| =OO 10,000
9 ANftFT | #tEiZ& | 3 |105%**7| 500 10,000
10 | A#tPR | % | 2 |106***5| 10O 6,000
11 | A%BR | 8% | 4 |104**7| #00 7,000
12 | AftBR | 88% | 2 [106***7| ZBOO 7,000
13 | A#tFR | £8%% | 4 |[104**6| F.00 6,815
14 | AftBg | AftZEE( 1 |107***7| HOO0 10,000
15 | Tz | T8% | 4 |104***3| Z=OO 19,820
16 | Tz | T&% | 3 [105***6| ZF0O 19,820
17 | I&fz | IT8% | 1 |107***0| [ROO 19,820
18 | I8k | T8&% 2 |106***8| #O0 19,817
19 | T2z | {EM% | 3 |105***5| 35ROO 12,680
20 | IEfR | {EM% | 2 [106***5| ZE00 8,000
21 | ITEfg | I6MZ% | 4 |104***7| #R0O0 8,000
22 | IEfg | {EM% | 3 [105***5| BROO 5,000
23 | IEBf | IEM&% 1 [107***4| ZHOO 5,000
24 | TEFT | {EM% | 2 [106***4| BROO 5,000
25 | ITEfE | IEM% | 4 |104***5| ;100 5,000
26 | TEBx | {EM% | 3 [105***9| EOO 3,000
27 | IEBfE | IEM% | 4 |104***1| Z00 3,000
28 | ITEBfR | IEM% | 4 |104***2| FFOO 3,000
29 | TE8FR | #MZ | 4 |[104**7| BROO 10,000
30 | TEFR | #Wzx | 4 |104**1| #00 10,000
31 | ITEFR | #mfE | 3 [105%**%4| [OO 12,392
32 | IEr | #mMzx 2 |106***0| 2200 12,392
33 | IEFg | IT==H 2 |106***7| %00 4,265
4 | BB | ELA 4 | 104***g| PEOO 13,092
3B | BB | ELE 4 | 104***5| HOO 13,092
36 | EfER| ELA 3 |105***9| 3RE00 13,092
37 | BB | ELZ 3 |105***0| %200 13,092
3B | BB | ELA 3 | 105***5| PEOO 13,092
39 | EER| EE% | 4 [104**3| %K00 9,540

40 | EfER | EE% | 4 |104**0| [ROO 9,540
41 | EfERR | EE% | 3 [105***9| HSOO 9,540
42 | BBk | EE% | 3 |105***3| F0O0 9,540
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43 | BB | BEEA 1 [107***6| [ROO 9,540
44 | BEERR | EEZ | 3 |104***9| ZB0OO 16,835
45 | EfERR | EE% | 3 |[104***4| ZE00 16,835
46 | BEBPR | BEZR | 2 [105***3| [ROO 10,000
47 | BEERG B AT | 2 |106***0| =00 16,425
48 | BiEEBPr | EHARE| 2 [106***2| 200 30,000
49 | EEEBR | EHARD 107***0| ZEBOO 6,736
50 | EEEERR | B AL | — 10776 Z2OO 6,736
51 | BEEMR B AL — |106***2( Z=00 6,736
52 | EEEEARR | AL = [105*%0| FEO0O 6,736
53 | EiEER | E¥ARL| = 1050 OO 6,737
54 | BEEBM |EH¥ARLS| = |105%**6( FHEOO 6,736
55 | EEiEERT | B AR | KU | 104**+8 [ FROO 5,500
56 | BB | E AR | KU | 104***8 [ 5RO0 8,356
57 | EiEERT | B AR | K| 1065 | #EIOO 5,500
58 | EEEEANT | E@EAEE| 2 [106***0| BROO 5,785
50 | EIEEME | KBME | — |106***4| 35RO00 15,000
60 | EEERE | B3 | 3 |105%**9( fFHO0O0 11,000
61 | EIEEMR | B43 | 4 |104***5( 200 12,500
62 | EEEBRE | B3 | 3 |105***5( ROO 14,500
63 | EIEEMR | B4 | 2 |106***1| =OO 12,000
64 | BB | B1Y | 4 |104***2| =OO 9,000
65 | BT | B4 | 2 |106***7| BROO 8,000
66 | EIEEMR | 24P | 4 |104**6| HOO 12,000
67 | EEEMR | B4 | 3 |105%**4| BROO 10,500
68 | EIEEMT | B4 | 2 |106***1| Z00 9,500
69 | EIEEfT | B43 | 4 |104***8| =OO 10,000
70 | EIEERR | B4 | 4 | 104***2| KOO 12,000
71 | EEER | B43 | 1 |107***8| E0O0 9,500
72 | EIEERR | B4 | 4 | 104***1| #0O0 8,500
73 | EEER | B43 | 3 |105%**7( 3RO00 11,000
74 | EEBEBE | B3 | 3 |105%**9( =00 8,500
75 | BN | B43 | 3 |105%**9( %200 7,500
76 | EIEEMR | B4 | 1 | 107***2| BEOO 9,190
77 | EEEMR | B4 | 1 |107***3| 3RO00 8,000
78 | EEEMR | B4 | 1 |107***9( FO0O 10,500
79 | EEEMR | B4 | 1 |107***5( F0O0 9,500
783,824




